EARAROBEEIERT — 2 N— IBISH —F

20129108280 (H) 14E1AE4H

mC2—45.‘ﬁH C2 ¥5%3m®kt [xwl 8 | imEmml - |5 5) oo E
[AE4£] 1% :100,000 ™ ~ 23%&:23,000”  33%&:9,00H ~ 4#%:500MH / 5&:0H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. e e &k TFER :56. - . — EHAE (£E)
1 2| VIN=12TF 2R o #53.0 0(5_6)8 . 5.9 ! (4_219) SIAEEE .
R:zZa—A>75>F B:AvIavILTIi IWE B
om0 W& :57. = . = REHE (58
2|55 | ¥3ANKRAY I 56.0 0(5/741)0 e 58 2 tg; E”E"%’é‘.’?‘ﬂ
L2 T— M VX7 —F B:XAMEYIT> HO o gk
j 4 4 | HREEA 0:57.0 1-2 38.1| — 3 458 | FHEEAIEE (&%)
3(1(1(7zx TRXZ2— 56.0 (74%) ) FIMERE B
L7577 B:xULy b =i =3
= . 4 5 i 0:57.3 4-4 37.9| — 4 445 | IUEZEAN (£R)
4 6 YLIMFx—7> 56.0 (11/2) (+5) AHEZLR
a1y ayF B X¥x—-Y1rrX Fitaes]
. BEA— :58. - . - FHHBEAE (1£2)
5 3| ARET—Y it 4 aEx 0(%8)9 6-6 38.7 5 <4+537) e "
R:ZFp&—HI—WK B:FTU—a>F—7 1114505
I o3 | AT 0:59.2 5-5 39.4| — 6 482 | FRIIESE (EB)
6 4 Ey 7N — 56.0 (11/2) (-2) (E)EE?]‘—Z?T’
LT w TRy b By —F T wiNe s
® 1—F—@EBIERL
13—7-—
23=5"=
Ja=7= 1,2,5,6,4,3
43—+ — 2,1,5,6,4,3
[ /N
B 2 160/ 714K 2-5 130M B E 2-5 1604 JEE 1-2-5 260M
B B 2 130H4 1-2 160MH B H 2= 290M 3B 2=l 640M
5 1504 1-5 170H

ABICOVWTRDTEEERROODE. TR LIV,




